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���� f(z) =
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k=0

fkz
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� a ����
���� m 

��� (zn)
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fkz
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f(z) =
∞∑
k=0

fkz
k ���

� ���� ������
��
���� �������� a �= 0 � �� ���� ����� ��� m� � (zn) � !"�#�� � 

a $ ���� %����� ����% &���� %'� ��( Sn(z) =
n∑

k=0

fkz
k� � "� Sn(zn) = 0 � zn → a

(n → ∞)�
)� 	
&*+���
 � ,� -��
��� .�/ � %
�' ���
0 ��1 f � ���� ������� ����&
�� 2 

$ ����� ρ[f ]� � lim
n→∞

n lnn

− ln |zn − a| = mρ[f ]�

� �
�(���� �!�2����
�'� $ �����% $ % �#
��� |zn − a| %'%&��' 3�4� 5'�'�*�
�� 5�5� ,
�
(
�� .6/� 7 " �� �(��*%��' ����
 �
!������� &
�
! L $ !��&'( ����
� ����'� �
$
�
�%�'� !� ���*&'� � +∞ �� [x0,+∞) ������
 α �%%�#��'(
( � 1 
α(x) = α(x0) �� (−∞, x0]� � 2 % �'�'(
( � 1 α ∈ L0� ��1 α ∈ L � α((1 + o(1))x) =
= (1 + o(1))α(x) $�' x → +∞� 	��
+��� α ∈ Lpz� ��1 α ∈ L � α(cx) ∼ α(x) $�'
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x → +∞ ��� � #� 2 c ∈ (0,+∞)� � "� α � $ %���� !� ���*&� �������� 8� !�(�� �
1 Lpz ⊂ L0 ⊂ L� 	
��
 Mf (r) = max{|f(z)| : |z| = r}� α ∈ L � β ∈ L� �!�2����
�'(

$ ���� ( ��� � ������� f ��!'%�9���� .�/ %
�'&'�� ραβ[f ] = lim
r→∞

α(ln Mf (r))

β(ln r)
� : .6/

� %
�
� ���� �
 �
(��

�	
�	�
 �� ����/ α ∈ L � β ∈ L + 0�'����102 3&4���05�/210� 46075�89
B(x; c) = β−1(cα(x))9 0 < c < +∞	 :�&'6;�&�29 <2 1&7206=�>;� 230� ? 6�21@

$A α ∈ L09 β(ln x) ∈ L0 � xB′(x; c) → 1

ρ
(x → +∞) 3B� 72C02D2 c ∈ (0,+∞)E

FA α ∈ Lpz9 β(ln x) ∈ Lpz � xB′(x; c) = O(1) (x → +∞) 3B� 72C02D2 c ∈ (0,+∞)	
�23�

ραβ(f) = lim
n→∞

α(n/ρ)

β

(
1

ρ
+ ln |a|+ m

n
ln

1

|zn+m−1 − a|
) .

4�1 α(x) ≡ lnx � β(x) ≡ x ��� x ≥ e� � ! �
 �
(' ;  ��'(�9( � �(����
� %
�
�� % .�/� ��1 %'"
�
( α(x) ≡ x (x > 0)� β(x) = eρx� � ��� %
�'&'�' �'$�

σ[f ] ������� f ! ��9� # �
 �
('  �
�#'( ��%����� σ[f ] = lim
n→∞

n

eρ|a|ρ |zn+m−1−a|mρ/n�

8�
+� *� % .</ $ % �#
��� |zn−a| %'%&
� � �
�(���� � 2��'�(�&�'� $ ����� ρl[f ]

� �'$� τl[f ]� ���  !��&�*���� � �(���(' ρl[f ] = lim
r→∞

ln lnMf(r)

ln ln r
�

τl[f ] = lim
r→∞

lnMf (r)

(ln r)ρl
� 8� �( %' 1 < ρl[f ] < +∞ � %
�
� � 1 

ρl[f ] = lim
n→∞

lnn

ln

(
1

n
ln

1

|zn − a|
) + 1

� τl[f ] = (ρl − 1)ρl−1ρρl

l m1−ρl lim
n→∞nρl(ln(1/|zn − a|))1−ρl .
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��� |zn − a| � �
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����� !"�#� ����
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��� ��
� �����
���� 8� =� :���� � ( .�/ ���� ������� $ �����

ρ[f ] = ρ ∈ (0, ∞) ���
#'�� � ����� !"�#� ���� ��1 
∞∫
1

ln Mf(r)

rρ+1
dr < +∞� >��?
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∞∑
n=1

|zn+m−1 − a|mρ/n < +∞. �6�

��� � %
�
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∞∑
n=1

|fk|ρ/k < +∞	
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 �� ����/ 5�B� 46075�� f ?�3�0� ��32� H�A9 (c
(j)
k )∞k=1 + 2F��C�0� '2;B�32102;��

72�'B�7;0&� I&;�B9 1 ≤ j ≤ m9 �

g(z) =

∞∑
k=0

gkz
k (gk = fk + c

(1)
k fk+1 + . . .+ c

(m)
k fk+m).

�23� g + 5�B� 46075�� � 0�B�C&�> 32 1�B��20212D2 7B�;6 ?F�C02;��9 �7<2 � ��B>7&
�7<2 f 0�B�C&�> 32 5>2D2 7B�;6	

-$��%��� �
��
 μf (r) = max{|fk|rk : k ≥ 0} � (���'(����'
 &�
� ��
$
�
% 2 
���� ���� @ �� !  2���� �� �
��%����� � +� ��� "���?�� 2 ε > 0 � %��� r > 0

μf (r) ≤ Mf(r) ≤
∞∑
k=0

|fk|rk =

∞∑
k=0

|fk|((1 + ε)r)k(1 + ε)−k ≤ μf ((1 + ε)r)
1 + ε

ε
. ���

8%���' %'$�'%�9� 1 f ���
#'�� � %���� � % 2 ����� !"�#� ��� � �� � �����' � ���

� �'
∞∫
1

ln μf (r)

rρ+1
dr < +∞� 8 ��+ 2 " ���  ������' |c(j)k | ≤ K < +∞ ��� %��� k ≥ 1 �

1 ≤ j ≤ m� � ��'%� .6/� .</� ��� %��� r > 1

μf (r)

(
1− K

r − 1

)
≤ μg(r) ≤ μf (r)

(
1 +

K

r − 1

)
, �<�

� "� lnμg(r) = lnμf (r)+o(1)� r → ∞� �  �#
� ������� g � f ���
#��� &' �
 ���
#���
� %���� � % 2 ����� !"�#� ���  �� &��� �

J21�3�00� ��2���& �	 A������' f (�9 ���� a ����� ��� m� � f(z) = (z − a)mϕ(z)�

�
 ϕ(z) =
∞∑
k=0

ϕkz
k � ���� ������
��
���� ������� � ϕ(a) �= 0� 3
2� $ "�&'�'� 1 

ln Mf(r) = ln Mϕ(r)+O(ln r), r → +∞� @ (� ������� f � ϕ ���
#��� &' �
 ���
#���
� %���� � % 2 ����� !"�#� ���  �� &��� �

4� � % .6/ �� .</� �
%�#� $
�
%��'�'� 1 

Sn(z) = (z − a)m
n∑

k=0

ϕkz
k − ϕnz

n+m − ϕn−1z
n+m−1 − . . .− ϕn−m+1z

n+1+

+ϕnC
1
mazn+m−1 + ϕn−1C

1
mazn+m−2 + . . .+ ϕn−m+2C

1
mazn+1 + . . .+

+(−1)mCm−1
m ϕnz

n+1am−1 = (z − a)m
n∑

k=0

ϕkz
k − ϕn−m+1z

n+1+

+ϕn−m+2(C
1
mazn+1−zn+2)+. . .+ϕn((−1)mCm−1

m zn+1am−1+. . .+C1
mazn+m−1−zn+m)

��  ������' Sn(zn) = 0� � 

(zn − a)m
n∑

k=0

ϕkz
k
n = zn+1

n (ϕn−m+1 + (−C1
ma+ zn)ϕn−m+2+

+((−1)m+1Cm−1
m am−1 + . . .+ (−1)C1

mazm−2
n + zm−1

n )ϕn),

� "� 

(zn+m−1 − a)m
n+m−1∑
k=0

ϕkz
k
n+m−1 = zn+m

n+m−1gn, ���
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�

gn = ϕn + (−C1

ma+ zn+m−1)ϕn+1 + . . .+

+((−1)m+1Cm−1
m am−1 + . . .+ (−1)C1

mazm−2
n+m−1 + zm−1

n+m−1)ϕn+m−1.

8� �
( * 6 ! ϕn !�(���� fn ���� ������� ! � 
����9���(' gn ���
#'�� � %���?
� � % 2 ����� !"�#� ��� � �� � �����' � ��� � �' � �� 2 ����� ���
#'�� �������

ϕ ��  �#
� ������� f � @ (� !� �
( * �
∞∑

n=1
|gn|ρ/n < +∞�

A������' zn → a �
n∑

k=0

ϕkz
k
n → ϕ(a) �= 0 $�' n → ∞� � ! ��� (�9( 

|gn| = |zn+m−1|−(n+m)|zn+m−1 − a|m
∣∣∣∣∣
n+m−1∑
k=0

αkz
k
n+m−1

∣∣∣∣∣ =
1 + o(1)

|a|n+m
|zn+m−1 − a|m,

n → ∞� � "� |gn|1/n =
1 + o(1)

|a| |zn+m−1 − a|m/n, n → ∞, �  �#
� $��%'���
 �$�%?

%��� +
��� �6�� @
 �
(� � � %
�
� � �
�� ��
�
���	��� ��
� �����
���� ��� α ∈ L � β ∈ L "��
( 2 % �'?

�'� 1 ���� ������� f ���
#'�� � ��!�2����
� 2 � αβ?����� !"�#� ���� ��1 
∞∫
r0

α(ln Mf(r))

rβ(ln r)
dr < +∞� 8 �
 �
(' 6 !� ������ .B/ %'$�'%�9 ���� �
(��

�	�
 �� ����/ α + 11�D06�� 0� [x0, +∞) 46075�� � α(ex) ∈ L09 � 46075�� β ∈ L0

?�3212B>0�= 6�21&
xβ′(x)
β(x)

≥ h > 0 (x ≥ x0) �
∞∫
x0

α(x)

β(x)
dx < +∞	 G7<2 5�B� 46075��

f 0�B�C&�> 32 αβ�7B�;6 ?F�C02;��9 �2
∞∑
n=1

(α(n) − α(n− 1))B

(
1

n
ln

1

|fn|
)

< +∞	

:'� �'�� %�*&' �* �
(� � ��%
�
�� %'1
 (����%����� �
%�#� � %
��' ����
�
 �
(��

�	
�	�
 �� ����/ 46075�8 α � β ��7�9 �7 6 B��� K	 G7<2 5�B� 46075�� f 0�B�C&�>

32 αβ�7B�;6 ?F�C02;��9 �2
∞∑

n=1
(α(n)−α(n−1))B(mn ln

1

|zn+m−1−a|)<+∞	

J21�3�00�	 8 ��� !� �( % α ∈ L0 � β ∈ L0 �
2� %'$�'%�9� 1 f ���
#'�� � αβ?�����

!"�#� ��� � �� � �����' � ��� � �'
∞∫
r0

α(ln μf (r))

rβ(ln r)
dr < +∞� � (� ! �<�  ��'(�9( � 1 

f � ������� g ! �
(' 6 ���
#��� &' �
 ���
#��� � αβ?����� !"�#� ���  �� &��� �
A������' ln r = o(ln Mf (r)) � ln Mf (r) = ln Mϕ(r) +O(ln r) $�' r → +∞� � ����?
��� ϕ � f ���
#��� &' �
 ���
#��� � αβ?����� !"�#� ���  �� &��� � 8%���'� �� �
� %
�
��� �
 �
(' �� %'$�'%�9� 1 ������� g ! � 
����9��(' gn� ��� %'!��&�*����
��%����* ���� ���
#'�� � αβ?����� !"�#� ��� ��  �#
� !� �
( * �

∞∑
n=1

(α(n)− α(n− 1))B

(
1

n
ln

1

|gn|
)

< +∞. �B�

>� �
 ! ���� �� � � %
�
��� �
 �
(' �� %'$�'%�9� 1 

1

n
ln

1

|gn| =
m

n
ln

1

|zn+m−1 − a| + ln |a|+ o(1), n → ∞. ���
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%�#� $ ��!��'� 1 ! �( %' β ∈ L0 %'$�'%�9� 1 B((1 + o(1))x) = (1 + o(1))B(x)
$�' x → +∞� @ (� ! �B� � ���  ��'(�9( $ ���"�
 �$�%%��� +
���� @
 �
(� 6 � %
?
�
� � �

��� ���'� ������
 ����&
�� 2 � 2��'�(�&� 2 $ ����� p[f ] = lim
r→∞

ln ln Mf (r)
ln ln r

� 2��'�(�&�'
 ���� !"�#� ��� %% �'���� .B/ !� � $ ( 2 * �( %'
∞∫
e

ln Mf (r)

r lnp+1 r
dr < +∞�

p > 1� C������ α(x) ≡ x � β(x) ≡ xp+1 �
 !�� % ����*�� �( %' �
 �
(' 6� � "� 
!��� ��%��' �* �
 �
(� �
 ( #��� >� �
 $��%'���'
 ���'
 �
!�������

�	
�	�
 �� G7<2 5�B� 46075�� f 0�B�C&�> 32 B2D��&4��I02D2 7B�;6 ?F�C02;��9

�2
∞∑
n=1

( 1n ln 1
|zn−a| )

1−p < +∞	

� %
�
��� ��9� �
 �
(' ���
 #� �� � �
 �
( � �� 6� � D�����9���� �� ��� (�0
��1 ���� ������� f ���
#'�� � � 2��'�(�&� 2 ����� !"�#� ���� � !� �
 �
( *

< �! .B/
∞∑

n=1
( 1n ln 1

|fn| )
1−p < +∞�

#� :��9;���� <� ( �������� ���
��

�� � ��
�
�	 
	�
� ������
:� �	�� ���� 3
�����
�
��� �	
���� ; :��9;���� <�� =������ >� ;;.������� ���
�� � � � #$<#� � 3� #=8�
� 2�#>#=#>?�
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VOJ KI HIM�JH QSIFM�OI f(z) =
∞∑

k=0

fkz
k W�MN K XHJO a OQ K YSLM�ZL�F�MP m LHM

(zn) [H K TH\SHIFH MHI]�IR MO a OQ XHJOT OQ ZKJM�KL TSYT Sn(z) =
n∑

k=0

fkz
k� ^KMH

OQ MNH MHI]HIFP |zn − a| MO 0 �T ]HTFJ�[H] �I MNH MHJYT OQ FOI_HJRHIFH FLKTTHT�

E F Q(7,8% HIM�JH QSIFM�OI� ZKJM�KL TSY� XHJOT� FOI_HJRHIFH FLKTT�
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��� �
��� �	
���� f(z) =
∞∑

k=0

fkz
k � 
	�
� a ����
���� m �	��� (zn)

� ���
��`���� � a ����
�����
��
���� 
	�
� ������
:� �	�� Sn(z) =

=
n∑

k=0

fkz
k� ) �
���
�� ������� ���������� �����
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